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Algebra IT
Unit 4B Systems of Polynomials WS

Solve each system of equations
algebraically.

1 y=x"-3x*+3
T y=-2x+3
3 f{x) = 3x.
alx)=x> - x
3 y = X° + 44x
"y =48+12x2
4 fix)=x* +2x* - 35x

g(x)=72x+36

For the following word problems, use
algebraic methods to solve for

5. A rectangle has a length of (x2 +
3x) and a width of (x% + 12x - 28).

a. Write a function for the area
of the rectangle. If the area is
1008 13, what is the length and
width of the rectangle?

6. A rectangular prism with length
(8 - x), width (x + 7) and height
(x-2).

a. Write a function V(x) in
standard form representing the
volume of the prism.

b. What are the dimensions of
the prism if the volume is 108
cubic units?

¢c. What are the dimensions of the
prism.if the volume is 50 cubic
units? '
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